Constellation

Invoice Date: 08/10/21 Invoice Number: 3260028 Account ID: BG-170748 Due Date: 08/27/21

Constant Cons

SUMMARY CHARGES

Gas Supply Charges \$11,598.61

Other Gas Related Charges \$2,877.10
Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$14,475.71

Total Amount Due \$14.475.7

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241 LDC Account: SGT940

Customer ID: RG-158576

Service for Jul-2021 - Actual Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Incremental Gas Costs

Subtotal Gas Supply Charges

Other Gas Related Charges

* . I O . I OU OI . .

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

Quantity	Rate	Amount
825.00 Dth	\$2.68900	\$2,218.43
1,500.00 Dth	\$2,50000	\$3,750.00
1,425.00 Dth	\$3.95100	\$5,630.18
3,750.00 Dth		\$11,598.61

\$2,877.10 \$2,877.10

\$14,475,71



Invoice Date: 09/10/21 Invoice Number: 3284527 Account ID: BG-170748 Due Date: 09/27/21

no curtoma care s

SUMMARY CHARGES	
Gas Supply Charges	\$10,332.94
Other Gas Related Charges	\$72.07
□ Taxes	\$0.00
Account Adjustments	\$0.00
Total New Charges	\$10,405.01

Total Amount Due

\$10,405.0

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241 LDC Account: SGT940

Customer ID: RG-158576

Service for Aug-2021 - Actual

Gas Supply Charges Fixed Basis with Fixed Commodity Gas

Subtotal Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Incremental Gas Costs

Other Gas Related Charges

Total Current Site Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

Quantity	Rate	Amount
700.00 Dth	52.68900	\$1,882.30
1,500.0-1 Dth	\$2.50000	\$3,750.00
1,120.00 Dth	\$4.19700	\$4,700.64
3,320.00 Dth		\$10,332.94

\$72.07 \$72.07

\$10,405.01



Invoice Date: 10/13/21 Invoice Number: 3311415 Account ID: BG-170748 Due Date: 11/01/21

eragina amadesia (elas (e.g.) (2002/342)

SUMMARY CHARGES	
☐ Gas Supply Charges	\$5,363.40
Other Gas Related Charges	\$1,292.25

Taxes

\$0.00 Account Adjustments

\$6,655.65 **Total New Charges**

Total Amount Due

\$6,655,65

Message Center

\$0.00

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241 LDC Account: SGT940

Customer ID: RG-158576

Service for Sep-2021 - Actual

Gas Supply Charges Fixed Basis with Fixed Commodity Gas

Fixed Basis with Fixed Commodity Gas Subtotal Gas Supply Charges

Other Gas Related Charges

Subtotal Other Gas Related Charges

Disbursement - Transport Commodity

Rate Amount Quantity \$1,613,40 600.00 Dtn \$2,68900 \$3,750.00 \$2,50000 1.500.00 Dth \$5,363.40 2,100.00 Dth

> \$1,292.25 \$1,292.25

\$6,655.65

Total Current Site Charges



Invoice Date: 02/11/21 Invoice Number: 3113916 Account ID: BG-170748 Due Date: 03/01/21

Duranta bire

SUMMARY CHARGES

\$13,512.88 M Gas Supply Charges \$6,507.90 Other Gas Related Charges

\$0.00 Taxes \$0.00 Account Adjustments

\$20,020.78 **Total New Charges**

Total Amount Due

\$20,020.78

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241 LDC Account: SGT940

Customer ID: RG-158576

Service for January 2021

Gas Supply Charges Fixed Basis with Fixed Commodity Gas

> Fixed Basis with Fixed Commodity Gas Incremental Gas Costs Subtotal Gas Supply Charges

Other Gas Related Charges Disbursement - Transport Commodity

Subtotal Other Gas Related Charges

Rate Amount Quantity 52,352,88 875.00 Dth \$2,68900 \$3,750.00 \$2,50000 1,500.00 Dth \$7,410,00 \$2.85000 2,600.00 Dth \$13,512.88 4,975.00 Dth

> \$6,507.90 \$6,507.90

Total Current Site Charges

\$20,020.78



Invoice Date: 03/15/21
Invoice Number: 3133465

Account ID: BG-170748 Due Date: 04/01/21

For Gustomer Care:

GasCustomerCareSconstellation.com

Phone (344) 200-3427

wastle www.constellation.com

SUMMARY CHARGES

■ Gas Supply Charges \$24,476.11

Other Gas Related Charges \$6,721.33

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$31,197.44

Total Amount Due

\$31,197.44

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576 Service for Feb-2021 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Incremental Gas Costs Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

Quantity	Rate	Amount
775.00 Dth	\$2.68900	\$2,083.98
1,500.00 Dth	\$2.50000	\$3,750.00
3,060,00 Dth	\$6.09220	\$18,642.13
5,335.00 Dth		\$24,476.11

\$6,721.33

\$6,721.33

Total Current Site Charges

531,197.44



Invoice Date: 04/14/21 Invoice Number: 3158585 Account ID: BG-170748 Due Date: 05/03/21

nava karaktan da berba

SUMMARY CHARGES

\$6,135.14 M Gas Supply Charges

\$3,151.71 Other Gas Related Charges \$0.00 ■ Taxes

\$0.00 Account Adjustments

\$9,286.85 **Total New Charges**

Total Amount Due

\$9,286.85

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940

Customer ID: RG-158576

Service for Mar-2021 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas

Buyback Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

Amount Rate Quantity 52.68900 52,420,10 900.00 Dth \$3,750.00 \$2,50000 1.500.00 Dth \$34,96 \$2,68900 -13,00 Dth \$6,135.14 2,387.00 Dth

> \$3,151.71 \$3,151.71

Total Current Site Charges

\$9,286.85



Invoice Date: 05/11/21 Invoice Number: 3187098

Account ID: BG-170748 Due Date: 05/28/21

GasCustomerCare@constellation.com

(844) 200-3427

SUMMARY CHARGES

\$8,915.58 ■ Gas Supply Charges

\$5,225.63 M Other Gas Related Charges

\$0.00 Taxes

\$0.00 Account Adjustments

\$14,141.21 **Total New Charges**

Total Amount Due

\$14,141.21

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St. Irvington, KY 40146-7241

LDC Account: SGT940

Customer ID: RG-158576 Service for Apr-2021 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas

Fixed Basis with Fixed Commodity Gas

Incremental Gas Costs

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity

Subtotal Other Gas Related Charges

Amount Rate Quantity \$1,882.30 700.00 Dth \$2,68900 \$2,50000 \$3,750.00 1,500.00 Dth \$3,283.28 1.196.00 Dth \$2,74522 \$8,915.58 3.396.00 Dth

> \$5,225.63 \$5,225.63

Total Current Site Charges

\$14,141.21



Invoice Date: 06/11/21
Invoice Number: 3214311

Account ID: BG-170748 Due Date: 06/28/21

For Sustamer Care: Lip) | CasCustomerCare@cunstalletom.com non. (840) 200-3427 vision. www.constellation.com

SUMMARY CHARGES Gas Supply Charges \$13,774.70 Other Gas Related Charges \$3,715.48 Taxes \$0.00 Account Adjustments \$0.00 Total New Charges \$17,490.18

Total Amount Due

\$17,490.18

Message Center

Thank you for being a Constellation customer!

pros d - 6-14-21

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241 LDC Account: SGT940

Customer ID: RG-158576 Service for May-2021 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Incremental Gas Costs Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement · Transport Commodity Subtotal Other Gas Related Charges

Quantity	Rate	Amount
800.00 Dth	\$2.68900	\$2,151.20
1,500.00 Dtn	\$2,50000	\$3,750.00
2,459.00 Dth	\$3.20191	\$7,873.50
4.759.00 Dth		\$13,774.70
.,,		

\$3,715.48 \$3,715.48

Total Current Site Charges

\$17,490.18

Constellation

Invoice Date: 07/12/21 Invoice Number: 3237349 Account ID; BG-170748

Due Date: 07/29/21

en de la forgación de la compactación de la compact

Total Amount Due

\$10,196.47

Message Center

Thank you for being a Constellation customer!

SUMMARY CHARGES

Gas Supply Charges \$9,603.92

Other Gas Related Charges \$592.55

Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$10,196.47

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241 LDC Account: SGT940

Customer ID: RG-158576 Service for Jun-2021 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Incremental Gas Costs

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

Quantity	Rate	Amount
800.00 Dth	\$2.68900	\$2,151.20
1,500,00 Dth	\$2.50000	\$3,750.00
1.120.0) Dth	\$3.30600	\$3,702.72
3,420.00 Dth		\$9,603.93

\$592,55 \$592,55

Total Current Site Charges

\$10,196.47